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1 PRAERROHER

(1) INFER

(BAL 4R, iR A)

F EF | Y| FRE RER | BEH BEK
TRH21EE 11 65 987 112 33
284EFE 11 65 941 113 30
294EFE 11 68 894 110 31
30FE 11 66 863 114 25
SHTERE 10 61 828 100 26
24EfE 10 60 794 106 26
(2) HFER (BAL R, R A)
F E | FRE FHRE ARE HEH BEH
FERR2TERE 4 24 605 55 13
284EFE 4 22 586 55 13
294EFE 4 22 541 55 14
30FE 4 22 507 54 11
SHTEE 4 22 484 54 12
24EfE 4 22 466 55 11
(3) EHFEFK (BAL R, R A)
. £ R H N R
g E |FRE FTI =ywy e BEH BEHK
TRR27EE| 3(1)) 1,233 1214 19 142 51
285 3(1)| 1,225 1,211 14 116 53
295 3(1)| 1,273 1,261 12 123 56
30E| 3(1)| 1,255 1,243 12 121 56
SHMTEE| 3(1)| 1,196 1,182 14 120 56
24EFE|  3(1)| 1,104) 1,086 18 108 52
XOITXRET. HrEREEBLEZLD,
(4) HHE-FIEFR (BAL:-EL . AN)
£ & b4 i3 YWREERBEEIELE = & %z ®
B# RRE#H | %E%H BEH| BH BHRH HEHN BEY | 2% | 24H HEH BEH
ER2TFEE 0 0 0 0 2 175 27 8 1 340 29 3
284 % 0 0 0 0 2 174 26 8 1 340 29 3
294 E 0 0 0 0 2 189 28 9 1 484 34 5
304 E 0 0 0 0 2 182 33 9 1 576 35 5
SHNTEE 0 0 0 0 2 154 31 9 1 606 43 7
26 0 0 0 0 2 167 33 8 1 605 41 8
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2 ERBROKRAE

(1) B

(G N, %)

g EErpEE 2B RS L REAEE BEEE .

¢ g [PRENELLE GErw CmmmEnman m vt o wILE m =
A C B/A F/A

TER2TEE 220 217 1 2 98.6 0.5

284 [E 202 202 — — 100.0 —

29%F [ 209 209 — — 100.0 —

0FE 195 195 - - 100.0 -

SHTEE 179 179 - — 100.0 -

25 E 164 163 — — 99.4 —

() EEEE (i A %)

T EL

- $¥%E+§§§%F§§%i?% tt okl Linm =
A B C B/A F/A

ER2TEE 340 116 3 53 34 34.1 15.6

284 405 114 5 85 15 28.1 210

204 376 104 5 80 21 21.7 213

30 423 127 6 70 19 30.0 16.5

SHTEE 401 139 6 65 30 34.7 16.2

25 415 121 6 91 22 29.2 22.2
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4 RERRFAABOHED

(BHL: N)

e & 4 FRR28ERE | TH2EE | TRIEE | SHTEE | SM2EE

EANUNIMEE BB S 35,612 31,807 30,122 30,601 27,107
@ =] 1z £ g 15,795 15,404 11,110 8,592 7,644
M @1 & R #® & £ 14,911 13,917 12,047 11,868 10,320
M a1 & % 4 3 » > F 6,397 5,960 6,664 5,621 2,358
M a1 %2 B WM & F 3,035 4,035 3,685 2,837 2,547
—ARBREEDLBENRKEE 61,122 53,361 52,068 46,839 33,826
—ANBREEHLAETREKT—IL 52,070 48,539 43,274 36,358 33,016
B % K %k T - 1L 1,189 1,240 1,292 898 1,305
L2 5 24 Bk 5 7,248 8,369 7,207 5,015 2,796
i) L L Ik &5 4,265 3,293 2,088 805 539
! Al L Bk 5 4,722 4,466 4,278 3,228 2,330
Yy 27 +F K = L 5 2,325 2,574 3,263 2,490 350
/T % ¥ = X 3 — b 3918 2,994 2,630 1,634 741
M a1 § = R a3 — F 794 844 438 487 284
B % 4 — b KR — L 5 522 174 0 0 8
M s % — &R — L 15 3,629 2,849 2,324 1,572 782
BT 8% 5 59 YK dL 75 6,935 6,600 7,957 7,693 7,298
! Al ® C] £ 1,444 1,255 1,491 1,577 1,246
FAaly 39 >YkrFdlL o 5,838 5,732 6,848 5,788 6,170
= # X F - 5 76 263 0 0 0
B Z kK &7 £ v 4 — 10,457 10,226 18,669 8914 7,891
— AW AT —+FHKR = B 84 70 70 70 90
L2 5 H B &5 8,454 6,379 6,518 4,987 4,204
=] § 250,842 230,351 224,043 187,874 152,852
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5 ANIRILESR=HMTHER ORI

(1) #AHEEHR

YRl HERTE (AZERXB:$F3%FE4H7R)
i 3] 12 5 2 % & en
. 5 2 2 4
B & ™ 3 5 - 7 o 12
T EHHERTE
Bl MR 1 2 & | 2% % |3 % F i
i 0 1 0 1
B o# # % 1 1 0 1 1 1 ) 3
.. g2 0 1 0 1
= \?5 .
g 32 # ™ 0 0 0 1 1 1 1 2
. 4 B 1 0 1 2
o ® X ) 3 1 1 A 5 : 9
. y B 0 0 1 1
K o' B X 1 1 1 1 1 2 3 4
= 8 1 2 2 5
Bt X A 5 ) 4 s 9 i3 18
(2) BREEHE (SF3E4F1BIRTE)
Bo|xe xm ok | = B om| K OB & B R
=L
g7 = T SN AN A I
£ ~ . = g | % g =E g i
B B
x| * R B
% |Bi- BA_| K EO BD B | R T | &£ B | M B
A 1 1 1 7 35 7 1 1 1 1 1 1 2| 60
(3) ZEHDERN (SF3E3IF/31BIRE)
H 5 #E & BE # ME X BEF L B £ ® el
g N & 74 9 65 120 86 354
[ VAN 252 22 99 109 32 514
Y = 17 1 2 8 2 30
Hi 343 32 166 237 120 898
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6 X{EBt

WETE- R -m-{5E XL 45 (SH3FE4R818HE)
2 fB EE5E Bi5TE HiEE =11
2 & )] 3 3 13 19
iz [ET] 0 5 26 31
|57 % 1 1 63 65
T = An 0 3 45 48
=] %
#H £E 0 2 1 3
Z &H & M 0 0 6 6
BE £ & # 0 2 7 9
=] X £ 0 3 14 17
® ® X 1 Bt 4 0 1 5
R A 5 i 1 0 8 9
B
X it & i1 i 3 5 11 19
L B 0 1 16 17
£ % 3 1 0 4
= o 2 B R U
XKAEIT Y 0 10 33 43
XAREBEY
E U % B 0 ‘ 0 ‘
iz # M|EZCHOEE 1 0 0 1
BEYHYBEARGEHERK
XAt M emyvime 1 0 0 1
= £ -
=t 18 37 253 308
| Z&Hampxies | 2w 5E 23 |
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($FI3E4B1BIRTE)
X 7 it = X = X T f8
[E] Fir % 1 1
& Ui 7,942.29m’ 2,224.78m"
IREANE - R 1,200 A 1,428 5
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